# ON THE ABSOLUTE SUMMABILITY FACTORS OF INFINITE SERIES I 

Tribikram Pati and Z. U. Ahmad

(Received October 16, 1959, Revised January 6, 1960)
1.1. Definitions. Let $\sum a_{n}$ be a given infinite series, and let $s_{n}^{\alpha}$ and $t_{n}^{\alpha}$ denote the $n$-th Cesàro means of order $\alpha(\alpha>-1)$ of the sequences $\left\{s_{n}\right\}$ and $\left\{n a_{n}\right\}$ respectively, where $s_{n}$ is the $n$-th partial sum. The series $\sum a_{n}$ is said to be absolutely summable $(C, \alpha)$, or summable $|\mathrm{C}, \alpha|$, if the sequence $\left\{s_{n}^{\alpha}\right\}$ is of bounded variation, that is, if the infinite series $\sum\left|s_{n}^{\alpha}-s_{n-1}^{\alpha}\right|$ is convergent ([4], [6]).
1.2. In what follows we shall require the following identities.

$$
\begin{equation*}
t_{n}^{\alpha}=n\left(s_{n}^{\alpha}-s_{n-1}^{\alpha}\right) \tag{1.2.1}
\end{equation*}
$$

$$
\begin{equation*}
t_{n}^{\alpha}=\frac{1}{!A_{n}^{\alpha}} \sum_{\nu=1}^{V_{n}} A_{n-\nu}^{\alpha-1} \nu a_{\nu}, \tag{6}
\end{equation*}
$$

where

$$
\begin{equation*}
\sum_{n=0}^{\infty} A_{n}^{\alpha} x^{n}=(1-x)^{-\alpha-1} \quad(|x|<1) ; \tag{1.2.3}
\end{equation*}
$$

and, by definition ([5]),
(1.2.4) $\quad A_{-1}^{\alpha}=0, A_{0}^{-1}=1, A_{n}^{-1}=0 \quad(n \geqq 1) ; A_{n}^{-2}=0 \quad(n \geqq 2) ;$

$$
A_{n}^{\alpha}=\left\{\begin{array}{cc}
\binom{n+\alpha}{n} & (\alpha>-1)  \tag{1.2.5}\\
(-1)^{n}\binom{-\alpha-1}{n} & (\alpha \leqq-1)
\end{array}\right.
$$

$$
\begin{align*}
A_{n}^{\alpha} & =\Gamma(n+\alpha+1) /\{\Gamma(n+1) \Gamma(\alpha+1)\}  \tag{1.2.6}\\
& \sim n^{\alpha} / \Gamma(\alpha+1)(\alpha \neq-1,-2, \ldots \ldots \ldots) .
\end{align*}
$$

For any sequence $\left\{\varepsilon_{n}\right\}$, we write

$$
\begin{equation*}
\Delta^{0} \varepsilon_{n}=\varepsilon_{n}, \Delta \varepsilon_{n}=\Delta^{1} \varepsilon_{n}=\varepsilon_{n}-\varepsilon_{n+1} \tag{1.2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
\Delta^{\rho} \varepsilon_{n}=\sum_{\nu=}^{\infty} A_{\nu}^{-\rho-1} \varepsilon_{\nu+n} \tag{1.2.8}
\end{equation*}
$$

provided this series is convergent.
If $h$ and $k$ are positive integers, we have

$$
\begin{equation*}
\Delta^{n} \Delta^{k} \varepsilon_{n}=\Delta^{n+k} \varepsilon_{n} \tag{1.2.9}
\end{equation*}
$$

and

$$
\begin{equation*}
\Delta^{k}\left(\delta_{n} \varepsilon_{n}\right)=\sum_{r=0}^{k}\binom{k}{r} \Delta^{r} \delta_{n} \Delta^{k-r} \varepsilon_{n+r} \tag{1.2.10}
\end{equation*}
$$

We also write

$$
\begin{gather*}
\bar{\varepsilon}_{n}=\Delta \varepsilon_{n},  \tag{1.2.11}\\
E^{\beta, \sigma}(n, \mu)=\sum_{\nu=0}^{n} A_{n-\nu}^{\beta-1} A_{\nu}^{-\sigma-1} \varepsilon_{\nu+\mu} ; E^{\beta, \sigma}(-1, \mu)=0 ;  \tag{1.2.12}\\
\bar{E}^{\beta, \sigma}(n, \mu)=\sum_{\nu=0}^{n} A_{n-\nu}^{\beta-1} A_{\nu}^{-\sigma-1} \bar{\varepsilon}_{\nu+\mu} ; \tag{1.2.13}
\end{gather*}
$$

and

$$
\begin{equation*}
T_{n}^{k}=\sum_{\nu=1}^{n} \nu^{-1} t_{\nu}^{k}, T_{0}^{k}=0 \tag{1.2.14}
\end{equation*}
$$

2. 3. Introduction. The present paper is the first of a series of papers which we intend to devote to the study of the absolute Cesàro summability factors of infinite series. We take our start from a recent paper of Bosanquet and Chow ([2]) in which the following theorem is shown to be true by virtue of its equivalence to a previous result of Chow ([3], Theorem 2).

THEOREM $A$. If $\kappa \geqq-1, \rho \geqq 0, p \geqq 0$, necessary and sufficient conditions for $\sum a_{n} \varepsilon_{n}$ to be summable $|C, \rho|$ whenever $s_{n}^{\kappa}=O\left(n^{p}\right)$ are:
(I) $\mathrm{a} \sum n^{\kappa-\rho+p}\left|\varepsilon_{n}\right|<\infty, \quad$ (I) $\mathrm{b} \sum n^{-1+p}\left|\varepsilon_{n}\right|<\infty$,
(II) $\sum n^{\kappa+p}\left|\Delta^{\kappa+1} \varepsilon_{n}\right|<\infty$.

The demonstration of this theorem by Bosanquet and Chow is naturally circuitous, involving the proof of a number of results which are apparently out of context. Our main object in the proposed series of papers, is to replace such a roundabout technique of proof by one which is direct and straightforward. In this paper we give a direct proof of a generalized version of Theorem A in the case: $\kappa=\rho=$ a positive integer, replacing the sequence $\left\{n^{p}\right\}$ by a wider class of sequences $\left\{\boldsymbol{\lambda}_{n}\right\}$. It may be observed that our
generalization of the necessity part of Theorem A holds in the general case $\kappa=\rho=k \geqq 0$, since in our proof we do not confine $k$ to integral values only.
2.2. We establish the following theorem.

THEOREM. If $k$ be an integer $\geqq 0$, then necessary and suficient conditions that $\sum a_{n} \varepsilon_{n}$ should be summable $|C, k|$ whenever

$$
\begin{equation*}
s_{n}^{k}=O\left(\lambda_{n}\right), \text { as } n \rightarrow \infty, \tag{2.2.1}
\end{equation*}
$$

where $\left\{\lambda_{n}\right\}$ is a positive, monotonic non-decreasing sequence, are:
(i) $\sum \lambda_{n}\left|\varepsilon_{n}\right|<\infty$
and (ii) $\sum n^{k} \lambda_{n}\left|\Delta^{k+1} \varepsilon_{n}\right|<\infty$.
3.1. We require the following lemmas for the proof of the sufficiency part of this theorem.

LEMMA 1. If $p>0,\left\{\lambda_{n}\right\}$ is a positive, monotonic nondecreasing sequence, and $\sum n^{p} \lambda_{n}\left|\Delta^{p+1} \varepsilon_{n}\right|<\infty$, then $\sum n^{q} \lambda_{n}\left|\Delta^{q+1} \varepsilon_{n}\right|<\infty$ for every $q$ such that $0 \leqq q \leqq p$.

This is proved by an easy adaptation of the proof of Lemma 2 of [1].
Lemma 2 ([3], Lemma 1). If $\sigma>-1$ and $\sigma-\delta>0$, then

$$
\sum_{n=\mu}^{\infty} \frac{A_{n-\mu}^{\delta}}{n A_{n}^{\sigma}}=\sum_{n=0}^{\infty} \frac{A_{n}^{\delta}}{(n+\mu) A_{n+\mu}^{\sigma}}=\frac{1}{\mu A_{\mu}^{\sigma-\delta-1}} .
$$

Lemma 3 ([3], Lemma 9). If $\beta>0, \sigma>0$, then

$$
\frac{E^{3, \sigma}(n, \mu)}{E^{3, \sigma}(n, \mu)}=\sum_{r=0}^{k}\binom{k}{r} \sum_{\nu=0}^{n} A_{n-\nu}^{B-r-1} A_{\nu}^{-\sigma+k-1} \Delta^{k-r} \Delta_{\nu+\mu+r}^{k-r} \bar{\varepsilon}_{\nu+\mu+r} .
$$

3. 2. Proof of the theorem: Sufficiency. Let $\tau_{n}=\tau_{n}^{\eta}=n a_{n} \varepsilon_{n}$, and let $\tau_{n}^{k}$ denote the $n$-th Cesàro mean of order $k$ of the sequence $\left\{\tau_{n}\right\}$. By hypothesis, and by (1.2.1),

$$
T_{n}^{k}=O\left(\lambda_{n}\right)
$$

as $n \rightarrow \infty$. And, again by (1.2.1), we have to show that

$$
\sum_{n} n^{-1}\left|\tau_{n}^{k}\right|<\infty
$$

The case $k=0$ is obvious. We therefore take $k \geqq 1$. We have

$$
A_{n}^{k} \tau_{n}^{k}=\sum_{\nu=1}^{n} A_{n-\nu}^{k-1} \nu a_{\nu} \varepsilon_{\nu}
$$

$$
\begin{aligned}
& =\sum_{\nu=1}^{n} A_{n-\nu}^{k-1} \varepsilon_{\nu} \sum_{\mu=1}^{\nu} A_{\nu-\mu}^{-k-1} A_{\mu}^{k^{\prime}} t_{\mu}^{k} \\
& =\sum_{\mu=1}^{n} A_{\mu}^{k} t_{\mu}^{k} \sum_{\nu=0}^{n-\mu} A_{n-\mu-\nu}^{k-1} A_{\nu}^{-k-1} \varepsilon_{\nu+\mu} \\
& =\sum_{\mu=1}^{n} A_{\mu}^{k} t_{\mu}^{k} E^{k, k}(n-\mu, \mu) \\
& =\sum_{\mu=1}^{n} \mu A_{\mu}^{k} E^{k, k}(n-\mu, \mu) \frac{t_{\mu}^{k}}{\mu}
\end{aligned}
$$

Hence, by Abel's transformation,

$$
\begin{aligned}
A_{n}^{k} \tau_{n}^{k}= & \sum_{\mu=1}^{n-1} \Delta_{\mu}\left\{\mu A_{\mu}^{k} E^{k, k}(n-\mu, \mu)\right\} T_{\mu}^{k}+n A_{n}^{k} E^{k, k}(0, n) T_{n}^{k} \\
= & \sum_{\mu=1}^{n} \Delta_{\mu}\left\{\mu A_{\mu}^{k} E^{k, k}(n-\mu, \mu)\right\} T_{\mu}^{k}+(n+1) A_{n+1}^{k} E^{k, k}(-1, n+1) T_{n}^{k} \\
= & \sum_{\mu=1}^{n} \Delta_{\mu}\left\{\mu A_{\mu}^{k} E^{k, k}(n-\mu, \mu)\right\} T_{\mu}^{k} \\
= & \sum_{\mu=1}^{n} \Delta_{\mu}\left(\mu A_{\mu}^{k}\right) E^{k, k}(n-\mu, \mu) T_{\mu}^{k} \\
& \quad \quad \quad \sum_{\mu=1}^{n}(\mu+1) A_{\mu+1}^{k} \Delta_{\mu} E^{k, k}(n-\mu, \mu) T_{\mu}^{k}
\end{aligned}
$$

Now,

$$
\begin{aligned}
& \Delta_{\mu} E^{k, k}(n-\mu, \mu) \\
&= \sum_{\nu=0}^{n-\mu} A_{n-\mu-\nu}^{k-1} A_{\nu}^{-k-1} \varepsilon_{\nu+\mu}-\sum_{\nu=0}^{n-\mu-1} A_{n-\mu-\nu-1}^{k-1} A_{\nu}^{-k-1} \varepsilon_{\nu+\mu+1} \\
&= \sum_{\nu=0}^{n-\mu-1} A_{\nu}^{-k-1} \Delta_{\mu}\left(A_{n-\mu-\nu}^{k-1} \varepsilon_{\nu+\mu}\right)+A_{n-\mu}^{-k-1} \varepsilon_{n} \\
&= \sum_{\nu=0}^{n-\mu-1} A_{\nu}^{-k-1} A_{n-\mu-\nu}^{k-1} \Delta_{\mu} \varepsilon_{\nu+\mu} \\
& \quad+\sum_{\nu=0}^{n-\mu-1} A_{\nu}^{-k-1} A_{n-\mu-\nu}^{k-2} \varepsilon_{\nu+\mu+1}+A_{n-\mu}^{-k-1} \varepsilon_{n} \\
&= \sum_{\nu=0}^{n-\mu} A_{\nu}^{-k-1} \mathrm{~A}_{n-\mu-\nu}^{k-1} \Delta \varepsilon_{\nu+\mu}+\sum_{\nu=0}^{n-\mu} A_{\nu}^{-k-1} A_{n-\mu-\nu}^{k-2} \varepsilon_{\nu+\mu+1}
\end{aligned}
$$

$$
\begin{aligned}
& \quad-A_{n-\mu}^{-k-1} \Delta \varepsilon_{n}-A_{n-\mu}^{-k-1} \varepsilon_{n+1}+A_{n-\mu}^{-k-1} \varepsilon_{n} \\
& =\bar{E}^{k, k}(n-\mu, \mu)+E^{k-1, k}(n-\mu, \mu+1)
\end{aligned}
$$

Hence

$$
\begin{aligned}
& A_{n}^{k} \tau_{n}^{k}=\sum_{\mu=1}^{n} \Delta_{\mu}\left(\mu A_{\mu}^{k}\right) E^{k, k}(n-\mu, \mu) T_{\mu}^{k} \\
&+\sum_{\mu=1}^{n}(\mu+1) A_{\mu+1}^{k} \bar{E}^{k, k}(n-\mu, \mu) T_{\mu}^{k} \\
&+\sum_{\mu=1}^{n}(\mu+1) A_{\mu+1}^{k} E^{k-1, k}(n-\mu, \mu+1) T_{\mu}^{k} \\
&=\Delta_{n}\left(n A_{n}^{k}\right) E^{k, k}(0, n) T_{n}^{k}+(n+1) A_{n+1}^{k} \bar{E}^{k, k}(0, n) T_{n}^{k} \\
&+(n+1) A_{n+1}^{k} E^{k-1, k}(0, n+1) T_{n}^{k}+n A_{n}^{k} E^{k-1, k}(1, n) T_{n-1}^{\prime} \\
&+\sum_{\mu=1}^{n-1} \Delta_{\mu}\left(\mu A_{\mu}^{k}\right) E^{k, k}(n-\mu, \mu) T_{\mu}^{k} \\
&+\sum_{\mu=1}^{n-1}(\mu+1) A_{\mu+1}^{k} \bar{E}^{k, k}(n-\mu, \mu) T_{\mu}^{k} \\
&+\sum_{\mu=1}^{n-2}(\mu+1) A_{\mu+1}^{k} E^{k-1, k}(n-\mu, \mu+1) T_{\mu}^{k}
\end{aligned}
$$

Therefore

$$
\begin{aligned}
& \sum_{n=2}^{\infty} n^{-1}\left|\tau_{n}^{k}\right| \\
& \leqq \sum\left(n A_{n}^{k}\right)^{-1}\left|\Delta_{n}\left(n A_{n}^{k}\right)\right|\left|\varepsilon_{n}\right|\left|T_{n}^{k}\right| \\
&+\sum\left(n A_{n}^{k}\right)^{-1}(n+1) A_{n+1}^{k}\left|\Delta \varepsilon_{n}\right|\left|T_{n}^{k}\right| \\
&+\sum\left(n A_{n}^{k}\right)^{-1}(n+1) A_{n+1}^{k}\left|\varepsilon_{n+1}\right|\left|T_{n}^{k}\right| \\
&+k \sum\left|\Delta \varepsilon_{n}\right|\left|T_{n-1}^{k}\right|+\sum\left|\varepsilon_{n}\right|\left|T_{n-1}^{k}\right| \\
&+\sum\left(n A_{n}^{k}\right)^{-1} \sum_{\mu=1}^{n-1}\left|\Delta_{\mu}\left(\mu A_{\mu}^{k}\right)\right|\left|E^{k, k}(n-\mu, \mu)\right|\left|T_{\mu}^{k}\right| \\
&+\sum\left(n A_{n}^{k}\right)^{-1} \sum_{\mu=1}^{n-1}(\mu+1) A_{\mu+1}^{k}\left|\bar{E}^{k, k}(n-\mu, \mu)\right|\left|T_{\mu}^{k}\right|
\end{aligned}
$$

$$
+\sum\left(n A_{n}^{k}\right)^{-1} \sum_{\mu=0}^{n-2}(\mu+1) A_{\mu+1}^{k}\left|E^{\kappa-1, k}(n-\mu, \mu+1)\right|\left|T_{\mu}^{k}\right| .
$$

Thus, it suffices for our purpose to show that

$$
\begin{equation*}
\sum n^{-1} \lambda_{n}\left|\varepsilon_{n}\right|<\infty ; \tag{3.2.1}
\end{equation*}
$$

$$
\begin{equation*}
\sum \lambda_{n}\left|\Delta \varepsilon_{n}\right|<\infty ; \tag{3.2.2}
\end{equation*}
$$

$$
\begin{equation*}
\sum \lambda_{n}\left|\varepsilon_{n+1}\right|<\infty ; \tag{3.2.3}
\end{equation*}
$$

$$
\begin{equation*}
\sum \lambda_{n-1}\left|\Delta \varepsilon_{n}\right|<\infty ; \tag{3.2.4}
\end{equation*}
$$

$$
\begin{equation*}
\sum \lambda_{n-1}\left|\varepsilon_{n}\right|<\infty \tag{3.2.5}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{\mu=1}^{\infty} A_{\mu}^{k} \lambda_{\mu} \sum_{n=1}^{\infty} \frac{\left|E^{k, k}(n, \mu)\right|}{(n+\mu) A_{n+\mu}^{k}}<\infty ; \tag{3.2.6}
\end{equation*}
$$

$$
\begin{align*}
& \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu} \sum_{n=1}^{\infty} \frac{\left|\overline{\bar{E}^{k}, k}(n, \mu)\right|}{(n+\mu) A^{k}+\mu}<\infty ;  \tag{3.2.7}\\
& \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu} \sum_{n=2}^{\infty} \frac{\left|E^{k-1, k}(n, \mu+1)\right|}{(n+\mu) A_{n+\mu}^{k}}<\infty . \tag{3.2.8}
\end{align*}
$$

(3.2.1)-(3.2.5) are all true by hypothesis. We proceed to prove the rest PROOF OF (3.2.6). By Lemma 3, since $n \geqq 1$,

$$
E^{k, k}(n, \mu)=\sum_{r=0}^{k-1}\binom{k}{r} A_{n}^{k-r-1} \Delta^{k-r} \varepsilon_{\mu+r}
$$

and, for $0 \leqq r \leqq k-1$,

$$
\begin{aligned}
\sum_{\mu=1}^{\infty} & A_{\mu}^{k} \lambda_{\mu} \sum_{n=1}^{\infty} A_{n}^{k-r-1}\left|\Delta^{k-r} \varepsilon_{\mu+r}\right| \frac{1}{(n+\mu) A_{n+\mu}^{k}} \\
& \leqq \sum_{\mu=1}^{\infty} A_{\mu}^{k} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r}\right| \sum_{n=0}^{\infty} \frac{A_{n}^{k-r-1}}{(n+\mu) A_{n+\mu}^{k}} \\
& =\sum_{\mu=1}^{\infty} A_{\mu}^{k} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r}\right| \frac{1}{\mu A_{\mu}^{r}} \\
& \leqq K \sum_{\mu=1}^{\infty} \mu^{k-r-1} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r}\right|<\infty, *
\end{aligned}
$$

(by Lemma 2)
by hypothesis and Lemma 1.

[^0]PROOF OF (3.2.7). By Lemma 3, since $n \geqq 1$,

$$
\bar{E}^{k, k}(n, \mu)=\sum_{r=0}^{k-1}\binom{k}{r} A_{n}^{k-r-1} \Delta^{k-r} \bar{\varepsilon}_{\mu+r}
$$

and, for $0 \leqq r \leqq k-1$,

$$
\begin{aligned}
& \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu} \sum_{n=1}^{\infty} A_{n}^{k-r-1}\left|\Delta^{k-r} \bar{\varepsilon}_{\mu+r}\right| \frac{1}{(n+\mu) A_{n+\mu}^{k}} \\
\leqq & \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu}\left|\Delta^{k-r+1} \varepsilon_{\mu+r}\right| \sum_{n=0}^{\infty} \frac{A_{n}^{k-r-1}}{(n+\mu) A_{n+\mu}^{k}} \\
= & \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu}\left|\Delta^{k-r+1} \varepsilon_{\mu+r}\right| \frac{1}{\mu A_{\mu}^{r}} \\
\leqq & K \sum_{\mu=1}^{\infty} \mu^{k-r} \lambda_{\mu}\left|\Delta^{k-r+1} \varepsilon_{\mu+r}\right|<\infty,
\end{aligned}
$$

(by Lemma 2)
by hypothesis and Lemma 1.
PRoof of (3.2.8). By Lemma 3, since $n \geqq 2$,

$$
E^{k-1, k}(n, \mu+1)=\sum_{r=0}^{k-2}\binom{k}{r} A_{n}^{k-r-2} \Delta^{k-r} \varepsilon_{\mu+r+1}
$$

and, for $0 \leqq r \leqq k-2$,

$$
\begin{aligned}
& \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu} \sum_{n=2}^{\infty} A_{n}^{k-r-2}\left|\Delta^{k-r} \varepsilon_{\mu+r+1}\right| \frac{1}{(n+\mu) A_{n+\mu}^{k}} \\
\leqq & \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r+1}\right| \sum_{n=0}^{\infty} \frac{A_{n}^{k-r-2}}{(n+\mu) A_{n+\mu}^{k}} \\
= & \sum_{\mu=1}^{\infty} A_{\mu}^{k+1} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r+1}\right| \frac{1}{\mu A_{\mu}^{r+1}} \\
\leqq & K \sum_{\mu=1}^{\infty} \mu^{k-r-1} \lambda_{\mu}\left|\Delta^{k-r} \varepsilon_{\mu+r+1}\right|<\infty,
\end{aligned}
$$

(by Lemma 2)
by hypothesis and Lemma 1.
This completes the proof of the sufficiency part of our theorem.
4.1. We require the following additional lemmas for the proof of the necessity part of the theorem.

Lemma 4 ([3], Lemma 5). If the sequences $\left\{u_{n}\right\}$ and $\left\{U_{n}\right\}$ are connected by the relation

$$
U_{n}=\sum_{\mu=1}^{\infty} S_{n, \mu} u_{\mu} \quad(n=1,2,3, \ldots \ldots),
$$

a necessary condition that the series $\sum U_{n}$ should be convergent whenever $u_{n}=O(1)$ is that

$$
\sum_{\mu=1}^{\infty}\left|\sum_{n=1}^{\infty} S_{n, \mu}\right|<\infty .
$$

Lemma 5 ([3], Lemma 6). If the sequences $\left\{u_{n}\right\}$ and $\left\{U_{n}\right\}$ are connected by the relation

$$
U_{n}=\sum_{\mu=1}^{n} S_{n, \mu} u_{\mu} \quad(n=1,2,3, \ldots \ldots),
$$

a necessary condition that the series $\sum\left|U_{n}\right|$ should be convergent whenever $u_{n}=O(1)$ is that

$$
\sum_{\mu=1}^{\infty}\left|S_{\mu, \mu}\right|<\infty .
$$

LEmma 6. Let $k>0, \varepsilon_{n}=O(1)$, and

$$
E^{* k, k+1}(n, \mu)=\sum_{\nu=0}^{n} A_{n-\nu}^{k-1} A_{\nu}^{-k-2}(\nu+\mu) \varepsilon_{\nu+\mu} .
$$

Then

$$
\sum=\sum_{n=0}^{\infty} \frac{E^{* k, k+1}(n, \mu)}{(n+\mu) A_{n+\mu}^{k}}=\Delta^{k+1} \varepsilon_{\mu} .
$$

PROOF. The proof runs parallel to that of Lemma 7 of Chow [3]. We give it here for completeness. By Lemma 2, we have

$$
\begin{aligned}
\sum & =\sum_{\nu=0}^{\infty} A_{\nu}^{-k-2}(\nu+\mu) \varepsilon_{\nu+\mu} \sum_{n=\nu}^{\infty} \frac{A_{n-\nu}^{k-1}}{(n+\mu) A_{n+\mu}^{k}} \\
& =\sum_{\nu=0}^{\infty} A_{\nu}^{-k-2}(\nu+\mu) \varepsilon_{\nu+\mu} \frac{1}{\nu+\mu} \\
& =\sum_{\nu=0}^{\infty} A_{\nu}^{-k-2} \varepsilon_{\nu+\mu}=\Delta^{k+1} \varepsilon_{\mu},
\end{aligned}
$$

the inversion of the order of summation being justified by absolute convergence.
4. 2. Proof of the theorem: Necessity. First we take $k>0$. Since

$$
\begin{aligned}
A_{n}^{k} \tau_{n}^{k} & =\sum_{\mu=1}^{n} A_{n-\nu}^{k-1} \nu a_{\nu} \varepsilon_{\nu} \\
& =\sum_{\nu=1}^{n-1} \Delta_{\nu}\left(A_{n-\nu}^{k-1} \nu \varepsilon_{\nu}\right) s_{\nu}+s_{n} n \varepsilon_{n} \\
& =\sum_{\nu=1}^{n} \Delta_{\nu}\left(A_{n-\nu}^{k-1} \nu \varepsilon_{\nu}\right) s_{\nu} \\
& =\sum_{\nu=1}^{n} \Delta_{\nu}\left(A_{n-\nu}^{k-1} \nu \varepsilon_{\nu}\right) \sum_{\mu=1}^{\nu} A_{\nu-\mu}^{-k-1} A_{\mu}^{k} s_{\mu}^{k} \\
& =\sum_{\mu=1}^{n} A_{\mu}^{k} s_{\mu}^{k} \sum_{\nu=\mu}^{n} \Delta_{\nu}\left(A_{\mu-\nu}^{k-1} \nu \varepsilon_{\nu}\right) A_{\nu-\mu}^{k-1},
\end{aligned}
$$

we have

$$
\begin{equation*}
\frac{\boldsymbol{\tau}_{n}^{k}}{n}=\sum_{\mu=1}^{n} \frac{s_{\mu}^{k}}{\lambda_{\mu}} \cdot \frac{\lambda_{\mu} A_{\mu}^{k}}{n A_{n}^{k}} \sum_{\nu=\mu}^{n} \Delta_{\nu}\left(A_{n-\nu}^{k-1} \nu \varepsilon_{\nu}\right) A_{\nu-\mu}^{-k-1} . \tag{4.2.1}
\end{equation*}
$$

The Condition (i) is Necessary. By virtue of Lemma 5, in order that $\sum a_{n} \varepsilon_{n}$ be summable $|C, k|$, that is, $\sum \frac{\left|\tau_{n}^{k}\right|}{n}<\infty$, whenever $s_{n}^{k}=O\left(\lambda_{n}\right)$, as $n \rightarrow \infty$, it is necessary that

$$
\begin{equation*}
\sum_{\mu=1}^{\infty} \frac{\lambda_{\mu}}{\mu}\left|\sum_{\nu=\mu}^{\mu} \Delta_{\nu}\left(A_{\mu-\nu}^{k-1} \nu \varepsilon_{\nu}\right) A_{\nu-\mu}^{-k-1}\right|<\infty . \tag{4.2.2}
\end{equation*}
$$

Since, when $\nu=\mu$,

$$
\begin{aligned}
\Delta_{\nu} & \left(A_{\mu-\nu}^{k-1} \nu \varepsilon_{\nu}\right) \\
& =A_{\mu-\nu}^{k-1} \nu \varepsilon_{\nu}-A_{\mu-\nu-1}^{k-1}(\nu+1) \varepsilon_{\nu+1} \\
& =A_{0}^{k-1} \mu \varepsilon_{\mu}-A_{-1}^{k-1}(\mu+1) \varepsilon_{\mu+1} \\
& =\mu \varepsilon_{\mu},
\end{aligned}
$$

(4.2.2) reduces to

$$
\sum_{\mu=1}^{\infty} \lambda_{\mu}\left|\varepsilon_{\mu}\right|<\infty .
$$

The Condition (ii) IS Necessary. The condition (i) which is shown above to be necessary implies that $\varepsilon_{n}=O(1)$. Hence, by Lemma 4, in order that $\sum a_{n} \varepsilon_{n}$ be summable $|C, k|$ whenever $s_{n}=O\left(\lambda_{n}\right)$, as $n \rightarrow \infty$, it is neces-
sary that

$$
\sum_{\mu=1}^{\infty}\left|\sum_{n=\mu}^{\infty} \frac{\lambda_{\mu} A_{\mu}^{k}}{n \bar{A}_{n}^{k}} \sum_{v=\mu}^{n} \Delta_{\nu}\left(A_{n-\nu}^{k-1} \nu \varepsilon_{\nu}\right) A_{\nu-\mu}^{-k-1}\right|<\infty,
$$

that is,

$$
\begin{equation*}
\sum_{\mu=1}^{\infty} \lambda_{\mu} \mu^{k}\left|\sum_{n=0}^{\infty} \frac{1}{(n+\mu) A_{n+\mu}^{k}} \sum_{\nu=0}^{n} \Delta_{\nu}\left\{A_{n-\nu}^{k-1}(\nu+\mu) \varepsilon_{\nu+\mu}\right\} A_{\nu}^{-k-1}\right|<\infty . \tag{4.2.3}
\end{equation*}
$$

Since

$$
\begin{aligned}
& E^{* k, k+1}(n, \mu) \\
& \quad=\sum_{\nu=0}^{n} A_{n-\nu}^{k-1} A_{\nu}^{-k-2}(\nu+\mu) \varepsilon_{\nu+\mu} \\
& \quad=\sum_{\nu=0}^{n-1} \Delta_{\nu}\left\{A_{n-\nu}^{k-1}\left(\nu+\mu, \varepsilon_{\nu+\mu}\right\} A_{\nu}^{-k-1}+(n+\mu) \varepsilon_{n+\mu} A_{n}^{-k-1}\right. \\
& \quad=\sum_{\nu=0}^{n} \Delta_{\nu}\left\{A_{n-\nu}^{k-1}(\nu+\mu) \varepsilon_{\nu+\mu}\right\} A_{\nu}^{-k-1},
\end{aligned}
$$

(4.2.3) reduces to

$$
\sum_{\mu=1}^{\infty} \lambda_{\mu} \mu^{k}\left|\sum_{n=0}^{\infty} \frac{1}{(n+\mu) A_{n+\mu}^{k}} E^{* k, k+1}(n, \mu)\right|<\infty,
$$

which, by Lemma 6, is equivalent to

$$
\sum_{\mu=1}^{\infty} \lambda_{\mu} \mu^{k}\left|\Delta^{k+1} \varepsilon_{\mu}\right|<\infty .
$$

We finally dispose of the necessity part of the theorem in the case $k=0$, with the remark that the condition (i) (to which the condition (ii) reduces) becomes necessary as soon as we take the result of the theorem as true in the special case: $a_{n}=(-1)^{n} \lambda_{n}$.

The authors take this opportunity of expressing their warmest thanks to Professor B. N. Prasad for his generous encouragement.

## REFERENCES

[1] L.S. BosAnQuet, Note on the Bohr-Hardy theorem, Journal London Math. Soc., 17(1942), 166-173.
[2] L.S. BOSANQUET AND H. C. Chow, Some remarks on convergence and summability factors, Journal London Math. Soc., 32(1957), 73-82.
[3] H. C. CHOW, Note on convergence and summability factors, Journal London Math. Soc., 29(1954), 459-476.
[4] M. Fekete, Zur Theorie der divergenten Reihen, Math. és termesz értesito (Budapest), 29(1911), 719-726.
[5] G. H. Hardy, Divergent Series, Oxford (1949).
[6] E. KOGBETLiANTZ, Sur les série absolument sommables par la méthode des moyennes arithmétiques, Bull. de Sc. Math. (2), 49(1925), 234-256.
[7] , Sommation des séries et intégrales divergentes par les moyennes arithmétiques, Mémorial des Sc. Math., No. 51(1931).

The University of Allahabad, Allahabad, India.


[^0]:    * $K$ denotes a positive constant, not always the same.

